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Set0l Answers for No.9589

areal = {3,4,7,8,12,13}

area2 =1 ) n(d N B)=0 n(4uU B)=11
Ansl =| 1= area3=1{2,5.6,9,11) ,2=| n(4-B)=6 n(U-(4 U B))=2
aread = {1,10} n(B-4)=5 Math@MUT
areal = {4, 13} n(4nB)=1 n(4du B)=6
Ans2=| 1= arizesaiz{,l;,;} 2= n(4-B)=2 n(U-(4 U B))=8
aread = {1,3,5, 6,8, 10, 12, 14} n(B-4)=3 Math@MUT
[ [ areal={12,15} ] ]
area = { } n(intersect(4, B, C)) =0 n(4A-B)=5
area3 = {3,4} n(union(4, B, C)) = 10 n(B-4)=3
szl 1o aread = {2,6,9} S n(d N B)=0 n(C N (4 U B))=4
areas = { } i n(B N C)=1 n(Cu (4 nB))=6
area6 = {11} n(4 v C)=8 n(intersect(4, B, C)) =15
area7 ={7,13} n(Bu C)=8 Math@MUT
Larea8 = {5, 8, 10, 14, 16 } | ]

[ 4 U B=(3,4,5,6,7,9,10,11, 13,14} | [ 1=(4 N B={area2}) ]
AN B={611}

/ 2=(B—A'={area2})

4V B={3,6789111215} .3=(A' U B'= {areal, area3, area4 })
BnA= {4,5,10, 13, 14} 4= (B’: {areal, area4, area7, area8 })

Ansd = A4-B={3,7,9} S=(B N (4 v C)={area2, area$, area6})

B -A= {8,12,15} 6=((4 N B) U (B N C)={areal, areas, areat })
(4 v B)’: {8,12,15} 7=((A-B) U (A—-C)={areal, area, aread })
A~ B={8,12,15} 8=(B - C = {aread, area’7})
[(A—-B) =1{4,5,6,8,10, 11, 12, 13, 14, 15} |

L 9=((4A-B) — C = {area$, areab, area? }) ]
PO0I000:0:0.0010:0:0:0:0:0.0.0.010.0:0:0.0:0.0.00.0:0:0:0:0.0.0.000:0:0.00:0.0.0.00:0:0:0:0.0.0.00'0:0:00:0.0.0.0.0'0:0:00:0:0.0.0.0:0:0.00.0:0.0.0.0:0:0:00:0.0.0.00:0:0:0:0.0.0.0.0:0:0:00:0.0.0.0:0.0:0:00.0.0.0'0'0.:0:0:0:0.0.0.0:0'0:0:0:0:0.0.0'0'0'

, Ans5 =
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Set0l Answers for No.9707

[Page 0002]

Ans4 =

areal = {8,10, 11, 14}

n(d N B)=2 n(d4d v B)=7
Ansl =| 1= “;:“53:_{{61’39}} 2= n(4-B)=4 n(U-(4 U B))=5
aread :{4,_5, 7,12, 15} n(B-4)=1 Math@MUT
areal = {12,13, 14} N4 A B)=0 n(4 U B)=9
Ans2=| 1= areasjﬁl,zsz{, 8}! 011} 2=| nA-B)=3 n(U-(4 U B)=4
area4 = {3,5,10,15} n(B-4)=6 Math@MUT
[ [areal=1{7,13,17} ] ]
area = { } n(intersect(4, B, C)) =1 n(4d-B)=4
area3 ={3,4,8} n(union(4, B, C))=13 n(B-4)=5
R aread = {16} e n(4d N B)=1 n(Cn(4vB))=4
aread = {2} ’ n(B N C)=3 n(Cu (4 nB))=7
area6={5,6} n(4 v C)=10 n(intersect(A4, B, C)/) =15
area7 = {10, 11,15} n(B U C)=10 Math@MUT
L L area8 =19, 12, 14} | ]
[ A U B=1{2,6,7,9,12,15,16} I 1= (B = {areal, aread})
/ 4 N B={15} 2=(B' - A ={areal })
4V B={234 ’5’ 8,10,11,12,13, 14,15} 3=((4 N B) = {areal, area3, aread})
BN A4={6,7916} 4= (B = {areal, area4, area’7, area8})
A-B={2,12} , Ans5 = 5=(B n (4 U C)= {area2, area’, area6 )

B'—A={3,4,58,10,11,13,14}
(A4 U B)=1{3,4,58,10,11,13, 14}
A~ B'=(3,4,5,8,10, 11,13, 14}

[(A-B)=1{3,4,5,6,7,8,9,10, 11, 13, 14, 15, 16 }

6=((4 N B) U (B nNn C)={areal, area’s, areat })
7=((A-B) U (A-C)={areal, area, aread })
8=(B-C= {aread, area7})
.9:((C—A)’—B={area],area4, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9821

areal = {3,6}

area2 = 12,10} n(4d N B)=2 n(4 U B)=8

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=3
“;‘Zi 4‘:{ ?174859} } n(B-A)=4 Math@MUT
areal = {5, 6, 10} n(d N B)=2 n(duU B)=6
Ans2=| .1 = "fjj;f?;? L 2=| n(4-B)=3 n(U—-(4 U B))=6
aread = {3,4,8,9, 11, 12} n(B-4)=1 Math@MUT
[ i areal = { } ] B i
area = {2,12} n(intersect(4, B, C)) =1 n(4d-B)=1
area3 = {6, 14} n(union(4, B, C)) =10 n(B-A)=4
R aread = {8} S n(d N B)=3 n(C N (4uU B))=4
aread = {5} i nBnNnC)=3 n(Cu (4 nB))=8
area6 = {11,15} n(4 v C)=8 n(intersect( A4, B, C)/) =15
area7 = {4,17} L nBuC(C)=10 Math@MUT
L Larea8={3,7,9,10,13,16} ] ]
I AU B={56,7,911,12,13,15} i r d=(4 A B={area2})
- A0 B={6} 2=(A' - B={aread})
4w B={4,672310,14,15,16,17} 3=((4 N B) = {areal, area3, aread})
B A'={509111213} 4=(4 N C= {aread, area5})
Ans4 = A-B=1{7,15} , AnsS = S=(B n (4 v C)={area, areal, areab})
B—dA= {4, 8,10, 14,16, 17} 6=((4 N B) U (B n C)={area2, areas, areab })
(4 U B)=1{4,8,10,14,16,17} 7=((B=A4) N (B-C)={area3})
A A B=1{4,810,14,16,17} 8=(4 = C = {areat, area’ } )
L(A-B) =1{4,5,6,8,9,10, 11, 12, 13, 14, 16, 17} L 9=((B-C) - A= {areat, area7, areas8 } ) _
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Set0l Answers for No.10352

X [Page = 0004]

Ans4 =

areal ={1,2,3,9}
area? = {10, 11}

y .

n(4d N B)=2 n(4 v B)=38
2= n(4d-B)=4 n(U-(4 v B))=5
n(B-4)=2 Math@MUT
n(4d N B)=0 n(4 v B)=9
,.2=| n(4-B)=3 n(U-(4 U B))=3
n(B-4)=6 Math@MUT
_n( intersect(4, B, C)) =0 n(4-B)=4
n(union(4, B, C)) =11 n(B-4)=3

Ansl=) 1= area3 = {8,12}
area4 = {4,5,6,7,13}
areal = {0,7,10}
areal ={ }
Ans2 =112 a3 ={1,4,5,6,8,9)
aread = {2,3,11} |
[ areal ={7,9,15} |
areal = {16}
area3 ={ }
area4 = {20}
Ans3 =| .1 = areas = 1{ } , .2 =
area6 = {8, 10, 13}
area7 = {11,17,18}
L Larea8 = {4,5,6,12,14,19} |
AU B=1{6,7,811,12,13} ]
AN B={7,12}
AU B=1{4,56,7,9,10,11,12,13,14}
B N A={8}
A-B=1{6,11,13} . Ans5 =

B —A4=1{4,59,10, 14}
(4 U B)=1{4,5,9,10, 14}
A N B'={4,509,10, 14}

(4-B)=1{4,5,7,8,9, 10, 12, 14}

n(4d N B)=1 n(C N (4 v B))=4
n(B N C)=3 n(C U (4 N B))=8
n(4 v C)=11 n(intersect( A4, B, C)/) =17
n(Bu C)=8 Math@MUT

A =(A4 v B={areal, area2, area3})
.2:(A—B': {areal })
3=((A4-B) U (B-A4)={areal, area3})
4=(4 N B={area2,area5})

S5=(C v (A4 n B)={area2, area4, area’, areab, area?7})
6=((4 v C) n (B v C)={area2, aread, area5, areab, area?7 })
7=((C—-4) v (C-B)={area4, areab, area7 })
.8:(C,—A’= {areal, area? })
9=(A4 n (B—C)rz {areal, aread, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10380

areal = {1, 3} (4 A B)=1  n(4 U B)=8
dnsl=| 1= area3a:e{aj,:5,{76,}9, oy | 25| MA=B)=2 n(U=(4 U B)=3
I | aread=1{2,8,11} Ln(B-A4)=5 Math@MUT |
areal = {5,7, 10} (4 A B)=2  n(4 U B)=1
Ans2=| 1= Z:Zi:ﬁ i;i ,2=| n(4-B)=3 n(U-(4 U B))=5
| lareas=1(4,6,8,9,13;) -nB-A)=2 Math@MUT |
T areal = {11} ) i
area? = {9, 14} n(intersect(4, B, C))=0 n(d-B)=1
area3 = {3,10, 13} n(union(4, B, C)) =10 n(B-4)=5
ns3=| 1= aread = { } e n(4d N B)=2 n(C N ((4uvB))=2
areas = { } i n(B N C)=2 n(Cu (4 nB))=6
area6 ={2,16} ndu C)=7 n(intersect(4, B, C)) =17
area7 = {5, 8} n(Bu C)=9 Math@MUT
L Larea8 =1{0,1,4,6,7,12,15} ] ]
[ 40U B=1{01,2,3,67,89} ] [ 1=(4 N B={area2}) ]
- A n B={6} 2=(B - A= {aread})
Av B={0,2,3,456,728,10} .3=((AUB)'={area4})
Bnd= {1, 9} 4=(A v B={areal, areal, area3, area4, area5, areat6 })
Ans4 = A-B=1{0,2,3,7,8} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —4= {4,5,10} 6=((4 v B) n (B v C)={area2, area3, aread, areas, area6 })
(4 v B)': {4,5,10} 7=((C—-4) v (C-B)={aread, areab, area7 })
A N B'={4,510} 8=(A n C={area3, area8})
L (A—B)':{1,4, 5,6,9,10} | L 9=(C n (A—B)/:{areaS,area@ area7}) |
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Set0l Answers for No.10412

areal ={5,7,8,10,15} n(d A B)=1 n(A U B)=8

Ansl =| 1= ar:;_ja—z{zl{26l}4} 2=| n(4-B)=5 n(U-(4 U B))=5
aread = {4,9,11, 13, 16} n(B-4)=2 Math@MUT
“r;“f{z{;zl}o} n(4 N B)=3 n(du B)=7
Ans2=| .1 = “;f:as‘_{z’ asy [P MA-B)=1 n(U=(4 U B))=5
aread = {3,5,9, 11,13} n(B-4)=3 Math@MUT
[ [areal=1{0,1,9,12}] T
area? = {11, 14} n(intersect(4, B, C)) =0 n(4A-B)=4
area3 =1{2,6,13} n(union(4, B, C)) = 12 n(B-A4)=5
i | areat=13 S n(4 N B)=2 n(C (4 U B))=2
MIENIEL geas=(y [CT] n(Bn C)=2 n(C U (4N B)=5
area6 = {7, 10} nd v C)=9 n(intersect(4, B, C)) =16
area7 = {15} n(Bu C)=8 Math@MUT
L L area8 =1{3,4,5,8} | ]

(4 U B=1{1,2,3,4,5,6,7,8,9,10}] = (A= {area3, aread})

A/r\ B=1{4,8; 2=(B—-A={area3})
A v B={0,46,80910} 3=(A-B)n (B-4)={1})
B A= {1,2,3,5,7} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ansd = A-B=1{6,9,10} . Ans5 = S=(B n (4 v C)={area2, areal, areab })
B -4={0} 6=((A4 N B) U (B n C)={areal, area’, areat } )
(4 v B)’:{O} 7=((A-B) U (A-C)={areal, area2, aread })
A N B={0} 8=(C -4 ={areal, area2})

L (4-B)=1{0,1,2,3,4,5,7,8} | L 9=(4 n (C-B) = {area3, areab, area8}) ]
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Set0l Answers for No.10487

>

areal = {8, 11} n(d n B)=3  n(4u B)=8
dnsl=| 1= ;Zc‘j:{{;’;’g} 22| n(A-B)=2 n(U—(4 U B))=4
aread = {3, 10, 12, 14} n(B-4)=3 Math@MUT
areal = { } n(d N B)=4  n(4du B)=7
Ans2=| 1= “reaz;_{{% 71’08’1113}} L 2=| n(4-B)=0 n(U-(4 U B))=4
aarreiza4 =_{3,’5, 9.12 n(B-4)=3 Math@MUT |
[ [ areal={1,5,8,18} | 1
areal = {6} n(intersect(4, B, C)) =0 n(4-B)=6
area3 =1{2,9, 15} n(union(4, B, C)) =13 n(B-A)=3
P aread = {11,16} S n(4 n B)=1 n(C (40U B))=2
area’ = { } ’ n(B N C)=0 n(Cu (4N B))=6
areab = { } n(4 v C)=10 n(intersect(A4, B, C)') =19
area7 = {3,12, 14} n(B v C)=9 Math@MUT
| larea8=14,7,10,13,17,19} ] ]
i AU B=1{2,3,41,8,10, 11,14} i 1=(A = {area3, aread ) ]
, 4N B={710; 2=(4'-B'={area3})
Av B={1,2356, 7? 8,9,10,11, 12,13, 14} 3=((4 N B)': {areal, area3, aread})
B nA={4} ,4=(A’= {area3, areab, area7, area8 })
Ans5 = S=(B N (4 v C)={area2, areal, areab})
6=((4 N B) U (B N C)={areal, areas, areab })

A-B=1{2,3,8,11,14}
B -A4=1{1,56,9,12,13}
(4 U B)=1{1,5,6,9,12,13}
A N B={1,5691213}

Ans4 =

(A-B)=1{1,4,5,6,7,9, 10, 12, 13}
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢
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7=((A=B) v (A-C)={areal, area2, aread})

8= (B' N C= {areal, area8})

9=((C—-A4) - B={areal, aread, area8 })
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Set0l Answers for No.10644

areal = {4} n(d N B)=2  n(4 U B)=6
Ansl =| 1= aritzzai?é,lé,31}2} 2= n(4-B)=1 n(U-(4 U B))=7
aread =1{0,2,5,7,9,10, 11} n(B-4)=3 Math@MUT
areal = {4,8,13, 14} nA ~ B)=2 n(A U B)=8
Ans2=| 1 = Z:ZZ?; g ﬁi 2=| n(4-B)=4 n(U-(4 U B))=4
aread = (5,6, 10, 11} n(B-4)=2 Math@MUT
0 areal = {4} i i
area? = { } n(intersect(4, B, C)) =2 n(4-B)=2
area3 ={8,13} n(union(4, B, C))=9 n(B-4)=3
ns3=| 1= aread = {16} e n(4d N B)=2 n(C N (4 U B))=4
aread={3,5} ’ n(B N C)=3 n(Cu (4N B))=6
area6 = {10} ndu C)=7 n(intersect(4, B, C)) =13
area7 = {6, 11} n(Bu C)=8 Math@MUT
L Larea8 ={7,9,12, 14, 15,17 } | J
(4 U B=1{3,5,6,7,8,9,10,11,13} | [ 1=(4 N B={area2}) ]
4 N B={310} 2=(A-B={areal })
AU B'={3,4,6,10,11,12} 3=(A" U B = {areal, area3, aread })
Bnd= 15.7,8,9,13} 4= (C/: {areal, area2, area3, area8 })
Ans4 = A-B={6,11} , AnsS = S=(C v (A n B)={area2, area4, areal, areab, area?7})
B —A= {4,12} 6=((4 v C) n (B Y C)={area2, aread, area5, areab, area?7 })
(4 v B)':{4, 12} 7=(A4-B) U (A-C)={areal, area2, aread })
A~ B'=1{412} 8=(B —A = {areal, aread})
L(A4 —B)': {3,4,5,7,8,9,10,12, 13} L 9=((4 —B)’— C={area2, area3, area8 }) J
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Set0l Answers for No.11101

areal = {2,6}

n4d nB)=1 n(4uUB)=7
Ansl =| 1= area2 = {13} 2= n(4-B)=2 n(U-(4 U B))=5
area3 = {4,8,9, 12} n(B-A)=4 Math@MUT
area4 =1{3,5,7,10, 11}
areal zz{f’ 1156 17} ndnBy=1 n(du B)=6
Ans2=| 1= afer:‘;:‘{g 13}} ,2=| n(4-B)=3 n(U-(4 U B))=8
aread = {5,6,8,9,11, 12, 14,16} n(B-4)=2 Math@MUT
i areal = {8,9} ] ]
area? = { } n(intersect(4, B, C)) =1 n(4A-B)=2
area3 = 1{5,11, 13,15} n(union(4, B, C)) =11 n(B-A4)=5
aread = { } n(4 N B)=1 n(C (40U B))=2
Ans3=| .1 = areas = {16 2= n(B N C)=2 n(CuU (4n B)=5
area6 = {3} nd U C)=7 n(intersect(4, B, C) )= 13
area7 = {6,7,12} n(Bu C)=9 Math@MUT
L area8={4,10, 14} ]

[ 4 U B=1{4,5,6,9,10,11, 12,13, 14} | i 1=(4 N B={area2}) ]
A~ B={10,11}

2=(A-B'={area2})
4 v B={3,5728,10,11,13} .3=(A' U B'= {areal, area3, aread })
BN A4={4,69,12 14}

4= (C,= {areal, area2, area3, area8 })

X [Page = 0009]

Ans4 = A4-B={5,13} , Ans5= S=(B U (4 n C)={area, area3, aread, areas, area6 })
B-A= {3,7,8} 6=((4 v B) n (B v C)={areal, area3, area4, area’, areat6 })
(4 v B)’: {3,7,8} 7=((A4-B) U (A-C)={areal, area2, area4})
A N B={3,728} 8=(C —B = {area2, area3})
[(A—-B) =1{3,4,6,7,8,9,10,11,12, 14} L 9=(4 ~ (C-B) = {area3, areab, area8 } ) ]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11613

X [Page = 0010]

area12{3,26_,9,11,15} 24 A B)=0 n(A4 U B)=9
Ansl =| 1= area;’:re{“do{’ 1}2, 14y 2| nA=B)=5 n(U-(4 U B)=4
aread = {5,7,8.13} n(B-A4)=4 Math@MUT
areal = {3,4,8,9,10, 11,13} n(A A B)=0 (A U B)=10
Ans2=| 1= area‘?e:“fg, 1{27}14} 2= n(4-B)=7 n(U-(4 U B))=2
aread = (5.7} n(B-4)=3 Math@MUT
[ [areal =1{2,3,5,6,8}] ]
area2 = {4,7} n(intersect(4, B, C)) =0 n(A-B)=5
area3 = {0, 13} n(union(4, B, C))=13 n(B-—A4)=3
ns3—| 1 aread = { } Py n(4d N B)=2 n(C N (4vB))=1
' areas={ } o n(BnNC)=1 n(C U (4 N B))=6
area6 = {12} n(4 v C)=11 n(intersect(4, B, C)) = 15
area7 ={1,10, 11} n(B v C)=8 Math@MUT
L area8=1{9, 14} i
4w B=1{0,1,2,5,10,12,13, 14} d=(4'= {area3, area4})
, AnB=1; 2=(B'—A={aread})
4V B= {3’,4’ 5,6,7,8,9,10, 11,12} .3:(A’ U B= {areal, area3, area4})
B nA4=1{0,1,2,13,14} 4=(4 v C={areal, areal, aread, areal, areab, area? })
A4-B={5,10,12} , Ans5 = S=(4 v (B n C)={areal, areal, area4, areas, area6 })
6=((A4 U B) n (4 v C)={areal, areal, area4, areal, areab })

Ans4 =
B —A=1{3,4,6,7,8,9,11}

(4 U B)=1{3,4,6,7,8,9,11}
A N B={3,4,6,7,8,9 11}

7=(A-B) U (A-C)={areal, area2, aread })
8= (A' U C= {areal, area?, area3, areab, area7, areas } )

9=(B N (4- C)’= {area3, area$, area6})

L(4-B)=1{0,1,2,3,4,6,7,8,9,11, 13, 14} ]
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00
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Set0l Answers for No.11720

i‘regl_:{{lg" ?i} nd N B)=2  n(du B)=8
Ansl =| 1= ar‘;:;_gé 7o 11y p 27| MA=BI=2 n(U=(4 L B))=3
aread— 15.10.12) n(B-A)=4 Math@MUT |
area]:2<{77,{élg3,91411,11}5} n(d ~ B)=3  n(4du B)=8
Ans2=|.1=| _3—}1’2} ,2=| n(4-B)=4 n(U-(4 U B))=4
areds= n(B-A)=1 Math@MUT |

aread = {4,5,6,10}

0 areal = {2, 14} i
area? = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {8, 19} n(union(4, B, C)) =11 n(B-A)=4
R aread = {16} S n(4d N B)=1 n(C A (4 U B))=4
' area5=1{6} e n(B N C)=3 n(Cu (4N B)=7
area6 = {5, 12} n(4 v C)=9 n(intersect(4, B, C)) =17
area7 ={17,10, 18} n(B v C)=9 Math@MUT
L Larea8 = {3,4,9,11, 13,15, 17} ]

[ 4 U B=1{3,4,7,9,10,11,12,13,14} | i 1 =(4 U B={areal, area2, area3}) i
- A0 B={10,13} 2=(B-A'={area2})
AV B={2,3,4,506,7,810,11,12,13} 3=((4 N B) ={areal, area3, aread})
B A={914} 4=(4 N B={area2, areaS})

Ans4 = A-B=1{3,4,7,11,12} , AnsS = S=(A4 n (B v C)={area2, aread, area’ })

B -A4=1{2,5,6,8}
(4 U B)=1{2,5,6,8}
A4~ B'={2568}
L (4-B)=1{2,5,6,8,9,10,13,14}

6=((4 N B) U (4 n C)={areal, aread, areal })
7=((B-4) n (B-C)={area3})
8= (C’—Brz {area2, area3})
9= ((C—A)’—B’: {area2, area3, area’5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12122

areal =1 } n(4d ~ B)=3 n(duU B)=5
Ansl =| 1= “rjjj;fs{’;’;f} 2= n(4-B)=0 n(U-(4 U B))=7
aread = (4.8, 10, 11, 12, 14, 15} n(B-4)=2 Math@MUT
arZZefi?él;Z} n(4 N B)=3  n(4 U B)=8
Ans2=|.1= area3={6,é,9’,12} ,.2=| n(A-B)=1 n(U-(4 U B))=5
aread = {1,3,5,7,10} n(B-A)=4 Math@MUT
i i areal = {10, 17} i 1
area? = {12,16} n(intersect(A4, B, C)) =1 n(4d-B)=3
area3={4,7,9} n(union(4, B, C)) =11 n(B-4)=4
nsi<| 12 aread = {18} . n(4d N B)=3 n(C N (4 v B))=3
area5 = {8} ’ n(B N C)=2 n(Cu (4N B))=6
areab = {13} n(d v C)=8 n(intersect(4, B, C)) = 14
area7 = {15} n(Bu C)=9 Math@MUT
L Larea8 = {5, 6, 11, 14} ]
A v B=1{5,7,9,10,11,12,13,16, 17} [ ,]:(A’:{area3,area4})
- AN B={913} 2=(A - B={aread})
4 v B =14, §’ 7,8,9,12,13,14,15, 18} 3=((4 n B)': {areal, area3, area4 })
B n4={510,11,16,17} ,4=(C’= {areal, area2, area3, area8 })
Ansd = A-B={7,12; , Ans5 = S=(C v (4 N B)={area2, aread, areal, areab, area?7})

B —A=1{4,6,8,14,15,18}
(4 U B)=1{4,6,8,14,15,18}
A N B'={4,6,8,14,15, 18}

L(4—-B) =1{4,5,6,8,9,10, 11,13, 14,15, 16, 17, 18 } |

[Page 0012]

6=((4 v C) n (B v C)={areal, aread, areas, areab, area7 })
7=((C—-4) v (C-B)={area4, areab, area7 })
8=(B N C'—{area] area8})
9=((4-C) - B={area4, area’, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12133
areal = {7}

area2 = {3,6,10} n(d N B)=3 n(4d U B)=7

Ansl =| .1 = ,.2=| n(d-B)=1 n(U-(4 v B))=4
afggji ; 3215 f 9}} n(B-4)=3 Math@MUT
areal = {2,5,6,7,9} n(A A B)=0 n(A U B)=9
Ans2=| 1= area;’;i“;jé 1}3, 4y [ 27| MA-B)=5 n(U=(4 U B))=4
aread = {4,8,11,12} n(B-A)=4 Math@MuT
[ [ areal=1{5,8,13} | |
area? = {3,15} n(intersect(A4, B, C)) =1 n(4-B)=3
area3 = {6,7,10} n(union(4, B, C)) =11 n(B-4)=4
nsi<| 12 aread = { } . n(4 N B)=3 n(C N (4 v B))=2
area5= {11} | n(B N C)=2 n(C v (4 nB))=5
areab = {12} n(du C)=8 n(intersect(4, B, C)) = 13
area7 = {4} n(B U C)=8 Math@MUT
L Larea8 = {9, 14, 16 } | ]
4 v B=1{5,689,11,12,15,16} [ 1= (A = {area3, aread}) 1
/ 40 B={5} 2=(4'-B'={area3})
A v B-= {3?4, 5,7,9,10,13, 14,15} 3=((4 U B) = {aread})
B nA={6311,12,16} 4=(4 v C={areal, areal, aread, areal, areab, area? })
Ansd = A-B={9,15} , AnsS = 5=(C n (A4 v B)={aread, area5, area6})
B —A=1{3,4,7,10, 13, 14} 6=((A n C) U (B n C)={aread, area5, area6})
(4 v B)’: {3,4,7,10,13,14} 7=((B—-4) v (B-C)={area2, area3, area6 })
A~ B'={3,4,7,10,13,14} 8=(B - A = {areal, aread})
L(4 —B)': {3,4,5,6,7,8,10, 11, 12,13, 14, 16 } | L 9=(C n (B—A)rz {aread, areas, area7}) i
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Set0l Answers for No.12317

areal = {9}
area2 =1{5,6
Anst =\ .I= area3 = {7, ;, 12,}13}
area4 ={1,2,3,4,10, 11
areal = {4,6,9}
areal = {7}
Ans2 =1 I= a3 = 10.1,2.5)
area4 = {3,8,10, 11}
[ areal = {15} ]
areal = { }
area3 =1{4,7,10, 11}
aread ={ }
Ans3 =| .1 = areas = 3,8} , .2 =
areab = { }
area7 = {2,9, 12}
L Larea8 = {5, 6,13, 14,16} |
i A U B=1{6,7,8,10,14} i
AN B={7,14}
AU B=1{4,517,8,911,12,13, 14}
B A={610}
A-B={8} , Ans5 =

Ans4 =

n(4d N B)=2 n(d4d v B)=17
,.2=| n(4A-B)=1 n(U-(4 v B))=6
) n(B-4)=4 Math@MUT
n(4d N B)=1 n(4 v B)=8
,.2=| n(4-B)=3 n(U-(4 U B))=4
n(B-4)=4 Math@MUT
_n( intersect(4, B, C)) =2 n(4-B)=1
n(union(4, B, C))=10 n(B-4)=4

B —A4=1{4,509,11,12,13}
(4 U B)=1{4,59,11,12,13}
A N B={4,50911,12 13}

X [Page 0014]

L(A-B)=14,5,6,7,9,10, 11, 12, 13, 14}

n(4 N B)=2 n(C N (4 U B))=2

n(B N C)=2 n(CuU (4N B))=5

n(4 v C)=6 n(intersect(4, B, C)) = 13
L n(BuC)=9 Math@MUT

A=(4 N B={area?})
.2:(B,—A:{area4})
3=((4-B) n (B-4)={})
4=(B n C={areas, areab})

S=(4 v (B n C)={areal, area2, aread, area$, area6 })
6=0(4 v B) n (4 v C)={areal, area2, area4, area’, areal } )
7=((B-4) U (B-C)={area2, area3, areab })
,8=(B’ N C= {areal, area8 })
.9=((C—B)’—A: {area3, areab, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12380

areal = {12,13, 14}

area2 = {10} ndnB)=1 n(d4uUB)=8
dnsl=| I=| s 68 11y [ 2| MA-B)=3 n(U=(4 © B)=3
aread 14,79} n(B-A)=4 Math@MUT
areal = {11, 14} n(4d N B)=3 n(duU B)=9
dns2=| g=|  @ea2=iZS 020 L4 BY=2 n(U—(4 U B))=6
area3 = {4,6,10, 16} nB-d)—4 Math@MUT
area4=1{3,7,8,9,13,15}
i areal = {9} ) |
area? = { } n(intersect(4, B, C)) =1 n(4—-B)=2
area3 = {4,5,7,12, 15} n(union(4, B, C)) = 10 n(B-A4)=6
il 1o aread = {3} 5 n4 ~ B)=1 n(C N (4 U B))=3
' area5= {11} > n(B N C)=2 n(C U (4N B))=4
area6= {16} n(d v C)=5 n(intersect(4, B, C)) = 13
area7 = {10} n(Bu C)=9 Math@MUT
L area8=1{6,8,13,14} | ]

A v B=1{3,4,5,7,8,10,11,12} i .]:(A’:{area3,area4})
,A N B={3,810} .2=(B'—A={area4})
A4V B=1{3,6780910,11,13} 3=((A-B) U (B-A)={areal, area3})
B N 4=1{4,5,12} 4=(A4 v C={areal, area, area4, area$, areab, area?7 })
Ans4 = A-B={711} , Ans5 = S=(A4 n (B v C)={area2, aread, area$})
B —A= {6,9,13} 6=((4 N B) U (4 n C)={areal, aread, area’})
(4 U B)=1{6,9,13} 7=((B-4) n (B-C)={area3})
A N B=1{6913} 8=(B - C = {aread, area7})
_(A—B)':{3,4, 5,6,8,9,10,12,13}] L 9=(B N (C—A)’: {area2, area3, area5 })
XHXXXXXXKXHKKXXKKKKKH XXX KL HK KX XKLL XXX LKL KKXX KKK KKK XKLL KKK XX KKK HKHK XX LKL KHK XXX LKL K XK K XKLL HKHK XKLL KKK XKLL KKK XKLL XK KXXKKKKK
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Set0l Answers for No.12498

areal = {9, 11,15}

- nd N B)=3 n(du B)=8
Ansl =| 1= mzzgf%;%;;} 2= n(4-B)=3 n(U-(4 U B))=5
aread =1{5,6,7,12, 16} n(B-4)=2 Math@MUT
ma”;f?;ff} n(4 N B)=2  n(du B)=7
Ans2=| 1= sz:{é7} 2= n(4-B)=3 n(U—-(4 U B))=4
areat = {3.4,5.9) n(B-A)=2 Math@MUT
i areal = {4, 8} i 1
area? = { } n(intersect(4, B, C)) =0 n(4d-B)=6
area3 = {3,14} n(union(4, B, C))=11 n(B-A4)=3
ns3—=| 17— area4 ={5,9,11, 13} 5 n(4d N B)=0 n(C n(4uv B))=5
S areas=1{% 7 n(B A C)=1 n(C U (4 N B)=7
area6 = {10} n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 = {1,6} n(Bu C)=9 Math@MUT
L L area8=1{2,7,12} | J
4 v B={2,6,7,9,12} I 1 =(A = {area3, aread}) 1

AN B=1{6,912}
A U B'={1,3,4,56,89,10,11,12, 13, 14}
B A={27}
A-B=1{}
B'-A4=1{1,3,4,5,8,10, 11, 13, 14}
(4 U B)=1{1,3,4,5,8,10, 11, 13, 14}
A~ B={1,3,4,5,8,10,11, 13,14} 8=(C -4 ={areal, areal})

(4-B)=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14} | L 9=((B-C) —A={areab, area7, area8 } ) i
b G BT ICHE RV NN D'9:9:0:9:9:9:0:0.0.0:0:0:0.0.0.:0:9:0.0.0.0:0:0:0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0:0.0.0.0.:0:9.0.0.0:0.9:0.0.0.0.0:9.0.0.0:0.9:0.0.0.0.:0:0:0.0.0.0:9:0.0.0.0.0:0.0.0.0:0.0:0.0.0.0.0:9:0.0.0:0.9:0.0.0.0.0:0.0.0.0.:0:9:0.0.0.0.0:0:0.0.0.0.:0:0:0.0.0.0.9:0.0.0.0.:0:0:0.0.0.0.0¢

.2:(A’—B= {aread})
3=((A4-B) n (B-4)={})
A4=(A n C={aread, area5})
S5=(C U (A n B)={area2, area4, areas, area6, area?7 })
6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
7=((C—-4) n (C-B)={area7})

Ans4 = , AnsS =




DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA Ex T T VN NO N 01 Lo D 94
Set0l Answers for No.12554

areal = {3, 11}

area2 = {7} n(4 N B)=1 n(4 U B)=6

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=5
arez’;ef{],{zf’s%%% }10} n(B-4)=3 Math@MUT
areal ={4, 5, 15} n(d nB)=2  n(4duU B)=7
Ans2=| .1 = “’f“23:_{{162’1113}} L 2=| n(4-B)=3 n(U-(4 U B))=5
area:li ia{ 7?8, 9: 10, 14} n(B-4)=2 Math@MUT
[ areal = {2,15} ) )
area2 = {5,7} n(intersect(A4, B, C)) =1 n(d-B)=2
area3 = {9, 10, 14} n(union(4, B, C)) =10 n(B-4)=4
nsi<| 12 aread = { } e n(4d N B)=3 n(C N (4 v B))=2
area5 = {8} ’ n(B N C)=2 n(C v (4 N B))=5
area6= {13} nd u C)=7 n(intersect(4, B, C)) = 13
area7 = {3} n(B U C)=8 Math@MUT
L Larea8 = {4, 6,11, 12} ]
A v B=1{3,4,5,8,9,10,11, 12} i 1=(4 N B={area2}) ]
’ 40 B=1911; 2=(4-B={area2})
AV B=1{2,56,7,9,10,11,13,14, 15} 3=((A-B)n (B-A)={})
B A={342812} 4=(A N B={area2, area5})
Ansd = A-B={510} . AnsS = S=(C v (4 n B)={area2, area4, area’, areab, area?7})
B -A= {2,6,7,13,14,15} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 } )
(4 U B)= {2,6,7,13, 14,15} 7=((B-4) v (B-C)={area2, area3, areab })
A A B=1{2671314,15} 8=(4 n C'={area3, area8})
L(4-B)=1{2,3,4,6,7,8,9,11, 12,13, 14,15} L 9=((4-C) - B'={area3, area5, areat }) J
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Set0l Answers for No.12836

X [Page = 0018]

areal = {4}
R area? = {6, 13, 14}
Ansi=).I= area3={5,11}
area4 =1{17,8,9,10,12, 15,16 }
areal = {2,5,12, 14}
R area2 ={1,7} B
Ans2 =\ .1 = area3 = {3,8,11} 2=
area4 ={4,6,9, 10,13}
i [ areal = {4,6} )
area? = {13}
area3 = {5}
B _ aread = {7, 14} _
Ans3 =| .1 = areas = 1{ } , .2 =
area6 = {9}
area7 = {3}
L Larea8 = {8, 10, 11, 12, 15, 16, 17, 18 } |

Ans4 =

AU B=1{3,5717,8,9,10, 11}
AN B={10}

AU B'=1{4,56,7,8,910,12,13}
BN A={311}
A-B=1{57,8,9}

B —A=1{4,6,12,13}
(4 U B)=1{4,6,12,13}
A N B={4,61213}

AnsS =

>

| (4-B)=1{3,4,6,10,11,12,13} | L

n(d N B)=3 n(4d v B)=6
,.2=| n(4-B)=1 n(U-(4 v B))=17
n(B-4)=2 Math@MUT
n(4 N B)=2 n(4d v B)=9
n(4d-B)=4 n(U-(4 v B))=5
n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =0 n4d-B)=4
n(union(4, B, C))=28 n(B-4)=2

n(4 n B)=1 n(C N (4 U B))=3
(B n C)=1 n(CuU(4n B)=5
n(d v C)=7 n(intersect(4, B, C)) =16
n(B v C)=6 Math@MUT

A= (B': {areal, area4})
2=(B—A={areal})
3= (A' U B'= {areal, area3, area4 })

4= (C,= {areal, area2, area3, area8 })

S=(C v (A4 N B)={area2, area4, areas, area6, area7 })
O6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )

.7=((A=-B) U (4-C)={areal, area2, aread})
8= (C'—B': {area2, area3})
9=((C—-A4) - B= {areal, area4, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12959

areal = 13,8} n(d N B)=3  n(4d U B)=6
Ansl =| 1= WZCZ;{_I’{%‘” 2= n(4-B)=2 n(U-(4 U B))=6
aread = {0,5,6,9,10, 11} n(B-4)=1 Math@MUT
area1={24i6,7,14} nA ~ B)=1 nA U B)=S8
Ans2=| 1= are;;e:a{g,{l(s),}u} ,2=| n(4-B)=4 n(U-(4 U B))=3
areat = (9. 11,13 } n(B-4)=3 Math@MUT
[ [ areal = {4, 10} i i
area? = { } n(intersect(4, B, C)) =1 n(4A-B)=2
area3 = {3,6,12, 14} n(union(4, B, C)) =10 n(B-A4)=5
ns3=| 1= aread ={ } . n(4d N B)=1 n(C N (4 v B))=2
' area5 = {11} o n(B N C)=2 n(C U (4 N B))=4
areab = {8} n(4d v C)=6 n(intersect(4, B, C)) =16
area7 = {9, 18} n(Bu C)=8 Math@MUT
L Larea8 = {2,5,7,13, 15,16, 17} ]
4w B=1{4,8,11,12,13} [ 1=(A v B={areal, area2, area3}) ]
’ AN B=1{413} 2=(4'-B={aread})
A v B=1{2,3,4,56,7,8,9,10,12,13, 14} 3=((A-B) U (B—A)={areal, area3})
B A={11} 4=(4 U C={areal, area2, aread, area5, areab, area7})
Ans4 = A-B=1{8,12} , AnsS = S5=(C n (A v B)={aread, area5, area6 })
B-A= {2,3,5,6,7,9,10, 14} 6=((4 N C) U (B n C)={aread, areal, areab })
(4 U B)=1{2,3,5,6,7,9,10, 14} 7=((B-4) N (B-C)={area3})
A N B= {2,3,5,6,7,9,10, 14} 8= (A’ U C= {areal, area2, area3, areab, area7, area8})
| (4-B)=1{2,3,4,5,6,7,9,10, 11,13, 14} | L 9=((B-A) - C = {aread, areas, area7} ) J
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Set0l Answers for No.12967

Ans4 =

[Page 0020]

areal = {5,10, 15} 04 A B)=1 n(A4 U B)=8%
Ansl =| 1= are:ge:“i:’ {6’1‘7"}12} 2= n(4-B)=3 n(U-(4 U B))=4
aread = {8,9, 11, 13} n(B-4)=4 Math@MUT |
areal ={2,3,6, 14} n(d A B)=3 n(4 U B)=10
Ans2=| .1 = ”re"z;_{?’llg’;l}} L 2=| n(4-B)=4 n(U-(4 U B))=5
areaa;e:a{S_, 8, ,9, 712, 13} n(B-4)=3 Math@MUT
i i areal = {6,8,9} ] ]
area? = {2,11} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 = {7} n(union(4, B, C))=10 n(B-4)=1
nsi<| 1< aread = {10, 13} . n(d N B)=2 n(Cn(40vB))=2
area’ = { } ’ n(B N C)=0 n(CuU (4 nB))=6
areab = { } n(4 v C)=9 n(intersect(A4, B, C)/): 14
area7 = {4,5} n(Bu C)=7 Math@MUT
L Larea8 = {3, 12, 14, 15} | i
4V B={2,3,6,7,809 11,14} I 1 =(A4'={area3, aread})
' AﬁB={2,6,11,14} .2:(BV—A’={LZV€LZ]})
AV B=1{23,4,5,6, 7, 8,10, 11, 12,13, 14} 3=((A-B) U (B—A)={areal, area3})
B nA={9} ,4=(C’: {areal, area2, area3, area8 })
4-B={3,7,8} , Ans5 = S5=(C v (4 n B)={area2, area4, area$5, areab, area?7 })
B-A= {4,5,10,12,13} O6=((4 v C) N (B y C)={area2, aread, area’, areab, area7 })
(4 U B)=1{4,5,10,12,13} 7=((A-B) n (4-C)={areal })
A n B'={4,5,10, 12,13} 8=(4" n B ={area7, area8})
| (4-B)=1{2,4,5,6,9,10,11,12,13,14} | L 9=((C—A) - B'= {area2, area3, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12975

areal ={5,7,10, 13}

area2 = {2, 14} n(4 N B)=2  n(4 U B)=8

Ansl =| .1 = ,.2=| n(A-B)=4 n(U-(4 U B))=5
are:f:“i;’ 2681;} ) n(B-A4)=2 Math@MUT
areal = {2,9,10, 12} nA A B)=1 n(A U B)=S8
Ans2=| .1 = are;;efi;,{li}w} 2=| n(4-B)=4 n(U-(4 U B))=4
aread = {3.5,6,8) n(B-A4)=3 Math@MUT
[ [ areal = {6} i |
area? = {12, 15} n(intersect(A4, B, C))=0 n(4d-B)=2
area3 = {8, 13} n(union(4, B, C)) =10 n(B-4)=4
ns3—| 1 aread = {7} e n(4d N B)=2 n(C N (4 v B))=3
areas = { } ’ n(B N C)=2 n(Cu (4 nB))=7
area6 = {10, 16 } n(4 v C)=8 n(intersect( 4, B, C)') =17
area7 = {3,9} n(Bu C)=9 Math@MUT
L Larea8 = {2,4,5,11, 14,17, 18} J
AU B=1{3,56,7,8,10,12} ] i 1=(A4 N B={area2})
40 B={67,10} 2=(A-B'={area2})
4V B={234, '5’ 6,7,8,9,10,11} 3=0(4 n B) = {areal, area3, area4 })
B N 4={12} ,4=(B’= {areal, area4, area7, area8 })
Ansd = 4-B={3,5,8} , Ans5 = S=(C n (4 U B)={area4, area’, areab })
B,—A:{2,4, 9,11} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 v B)’: {2,4,9,11} J=((B—-A4) U (B-C)={area2, area3, areab })
A N B={2,40911} 8=(4 n C={area3, area8})
L (A—B)'={2,4, 6,7,9,10, 11,12} | L .9:((B—C),—A:{area6,area7,area8}) |
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Set0l Answers for No.12979

areal =1{2,13} nd N B)=2  n(du B)=8
dnsi=| 1= e =A6108 o A—B)=2 n(U—(4 U B))=5
area3 =178, 12,14} n(B-A)=4 Math@MUT
area4 = {3,4,5,9,11}
area1={0,22,74,f,10,11} N4~ B)=1 n(A U B)=9
Ans2=| .1 = aferzzz‘{; g} 2= n(4-B)=6 n(U-(4 U B))=3
areat— {3, 6,9} n(B-A)=2 Math@MUT
i areal = {9} ) |
area? = {13} n(intersect(4, B, C))=0 n(4—-B)=2
area3=1{1,4,8, 11,14} n(union(4, B, C)) =12 n(B-A4)=5
R aread = {2} ,_ n(d4d n B)=1 n(C N (4UB)=1
' area5=1{} > n(B N C)=0 n(C U (4N B))=6
area6 = { } nd v C)=7 n(intersect(4, B, C)) =16
area7 ={0,3,6,15} n(B v C)=11 Math@MUT
L area8={5,7,10,12} | ]

4 v B={0,3,56,7,9,10,11} 1 =(A = {area3, aread})

/ AN B={50911} 2=(A-B={areal })
AU B={01245678091011,12,13} 3=((4 U B) = {aread})
BmA':{3} A4=(A n B={area2, area5})
Ans4 = A-B=1{0,6,7,10} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })

6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
7=((A4-B) U (A-C)={areal, area2, area4})
A N B={1,2,4,8,1213} 8=(A4' - C = {area6, area7})
L (A—B)':{1,2,3,4,5,8,9,11,12, 13} | L 9=(B N (C—-A4) ={areal, aread, aread }) i
DIO00:00:00:0:0:0:0:0:0:0:0:0:0/0.0:0:0.0:0:0:0.0:0:0:0.0.0:0:0.0.00:0:0.0'0.0:0.0.0:0.0.0.0:00:0.0.0.0:0:0.00:0.0.0.0:0.0.0:0:0:0.0.0:0:0.0'0.0:0.0.0.0.0:0.0.0:0:0.0.00:0.0.0'0:0:0.0.0.0:0.0.0:0:0.0.0'00:0.0.0:0:0.0'0.0:0.0.0.0:0.0:0:0:0.0.0'0:0:0'0'0:0:0.0:

B -A={1,2,4,8,12,13}
(4 U B)=1{1,2,4,8,12,13}
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Ans4 =

areal = {8,12, 14}

rea2— {4} n(4 N B)=1  n(4 U B)=6
Ansl=| .1 = a:;ae;_b 1 2= n(4-B)=3 n(U-(4 U B))=6
aread = 1{5,6,9, 10, 13, 15} n(B-4)=2 Math@MUT
2“fe;’éz{57}6 10} n(4 N B)=5 n(4duU B)=8
Ans2=| .1 = “re"ar;aji{’3 ) P2 aA-B)=1 (U= (4 U B)=3
areat = {12, 9} n(B-A4)=2 Math@MUT
[ i areal = {17} ] 1
area? = {3,5} n(intersect(4, B, C)) =1 n(4-B)=1
area3 = {11,12} n(union(4, B, C)) = 10 n(B-A4)=3
ns3=| 1= aread = { } I n(4 N B)=3 n(C N (4v B))=2
mI=AE area5 =19} ol = n(B A C)=2 n(C U (4 N B))=7
area6 = {2} n(d4 U C)=8 n(intersect(4, B, C)) = 15
area7 = {4,7,10} n(Bu C)=9 Math@MUT
L Larea8 = {6, 8,13, 14,15, 16 } | ]

AU B=1{4,571,910,11,13,16,17}
AN B={511}

AU B=1{5672809111213,14,15 17}
B N A=1{410,16}
A-B=1{7,9,13,17}

B —A=1{6,8,12, 14,15}
(4 U B)=1{6,8,12,14, 15}
A~ B'={6,8,12,14,15}

>

L (A4-B) =1{4,5,6,8,10, 11,12, 14,15, 16} |

.1=(A': {area3, aread })
.2=(A'—B'= {area3})
3=((4-B) A (B-A)={})
4=(B n C={area5, areab})

S5=(C n (4 v B)={aread, area5, area6})
6=((4 N C) v (B n C)={aread, area5, areat })
7=((B-4) v (B-C)={area2, area3, area6})
8= (A’—B’: {area3, area6})

L 9=((4-B) - C = {areda5, areab, area7})

AnsS =

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13020

”realzéﬁ’gi’}l3} n(4d N B)=1  n(4du B)=8
Ansl =| 1= are;;e_“{;4 Joy 2= nA-BI=3 a(U-(4 L B))=5
aread = {6, 10,11, 14, 15} n(B-A)=4 Math@MUT
areal = {15
areaZ:{3{7};3} n(d N B)=3 n(d U B)=8
Ans2=| .1= area3— (4 o 123 2= n(4-B)=1 n(U-(4 U B))=6
aread = {5, 6,9, 13, 14,16} n(B-d)=4 Math@MUT
i areal = {9} i 1
area2 = {0, 8, 14} n(intersect(A4, B, C))=0 n(d-B)=1
area3={1,4} n(union(4, B, C)) =11 n(B-A)=4
3ol 1o aread = { } 5 n(d N B)=3 n(C N (4 U B))=2
T areaS={ } Al n(B N C)=2 n(C U (4 N B))=8
area6 = {7, 11} n(d v C)=9 n(intersect(4, B, C)) = 15
area7 ={2,3,10} n(B u C)=10 Math@MUT
Larea8 = {5, 6,12, 13} | ]

AU B={3,4,509,10,11,12,13} 1 =(A'= {area3, aread})

4 N B=1{5,13} 2=(B-A4={area3})
A4V B=1{567380913} 3=(4" N B'={aread})
B n4={3,410,11,12} A4=(A4 n C={aread, area’})
Ans4 = A-B={9} , Ans5 = S5=(C n (4 v B)={aread, area$, areat })

6=((4 n C) U (B n C)={aread, area’, areat})
.7=((4-B) U (4-C)={areal, area2, aread })
8= (A’—B’: {area3, area6})
.9:(8’ N (4- C)': {area4, area?7, area8 }) |

B -A4=1{6,7,8}
(4 U B)=1{6,7,8}
A N B={6,7238)}

[(4-B) =1{3,4,5,6,7,8,10,11, 12, 13} L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

X [Page = 0024]




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXXKX XXX XXX KXKXXKXKXX KKK KKK LXK XXX KK XXX LXK LXK XXX KK KKK K XXX XXX K XXX XXX KK KKK KKXKXKKKKMA /2-6500101-00025XX

X

Set0l Answers for No.13028

[Page = 0025]

Ans4 =

”reilzz{_l{z}l}“ (4 ~ B)=1  n(4 U B)=6
Ansl =| .1 = areZ;f {‘6 010 [2=| nA-B)=2 n(U=(4 U B)=S
L Laread4 = {4,5,8, 11,13} Ln(B-4)=3 Math@MUT |
areal = {215),{161,1143; 16} _n(A A B)=2 n(A U B)=11
Ans2=| .1 = area‘;rf“{s‘7 512 15 p2=| MA-B)=4 n(U-(4 U B))=3
L wread= 14,917 L n(B-4)=5 Math@MUT |
i areal = {11,16} ] )
area? = { } n(intersect(4, B, C)) =2 n(4-B)=4
area3 = {14} n(union(4, B, C)) =10 n(B-A)=1
T aread = {5,7} 5 n(4d N B)=2 n(C N (4uU B))=4
Sl area5 = {15,18} o n(B N C)=2 n(C U (4N B))=7
areab = { } n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 = {10,12, 13 } n(Bu C)=8 Math@MUT
L Larea8 = {3,4,6,8,9, 17} ] ]

AU B=1{4,7,8,9,10,11,14}
A~ B={11,14}
AU B'=1{3,56,810,11,12,13, 14}
BN A={419}
A-B=1{8,10}
B —A4=1{3,56,12,13}
(4 U B)=1{3,5,6,12,13}
A N B={3,561213}

, Ans5 =

L(4 —B)'= {3,4,5,6,7,9,11,12, 13, 14 } |

.1:(A’:{area3, aread})
2=(B-A={area3})
3=(4-B) n (B-4)={})
A4=(4 N B={area2, area’ })

S=(A4 n (B v C)={area2, aread, area’})
6=((A4 N B) U (4 n C)={areal, aread, area’d})
J=((B-4) U (B-C)={area2, area3, areab })
.8:(A, N B'= {area7, area8 })

9= ((C—B)/—A/: {areal, area2, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13053

areal = {9, 13}

areal = {4} n(4d N B)=1 n(d U B)=17

Ansl =| .1 = area3 = 3.7, 12, 14} ,2=| n(4-B)=2 n(U-(4 U B))=5
aread = {5,6,8,10, 11} n(B-4)=4 Math@MUT
areal = {6, 10, 12} n(A A B)=2 nA U B)=7
Ans2=| .1 = ai‘erzg‘i:{ﬁﬁ} 2= n(4-B)=3 n(U-(4 U B))=8
aread = {4,5,7,8,9, 14,15, 16} n(B-4)=2 Math@MUT
[ areal = {9} T -~ i
area? = {1} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {6,7} n(union(4, B, C)) =10 n(B-A)=3
N aread = {15} S n(d N B)=2 n(C N (4 U B))=3
aread = {8} ’ n(B N C)=2 n(Cu (4 nB))=7
area6 = {10} n(d U C)=38 n(intersect(4, B, C)) = 15
area7 = {11,12,13} L n(Bu C)=9 Math@MUT
L Larea8 = {0, 2,3,4,5, 14} ] ]
AU B=1{4,56,7,8,10,11,12} ] [ d=(A N B={area2})
AN B={4} 2=(A'-B={aread})
AU B'={2,3,4,6,9,10,13, 14,15} 3=(4' B = {aread})
B A={5781112} A4=(A4 n C={area4,area’})
Ans4 = A-B={6,10} , Ans5 = S=(A4 n (B v C)={area2, aread, area5})
B —A= {2,3,9,13,14,15} 6=((4 N B) U (4 n C)={areal, aread, area’ })
(4 v B)':{2, 3,9,13,14,15} 7=((B—-4) v (B-C)={area2, area3, areab })
A~ B=1{23,91314,15} .8=(B - C'={aread, area7})
[(A-B)=1{2,3,4,5,7,8,9,11, 12, 13, 14, 15} L 9=((B-4)-C = {aread, areas, area7}) |
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00271

areal = {5, 6, 14}

area2 = {11} n(4d N B)=1 n(4 U B)=8
Ansl =| .1 = area3:{4,7,8,10}"2: n(d-B)=3 n(U-(4 U B))=3
aread = 19,12, 13 } n(B-4)=4 Math@MUT
areal = {3,4,5,6,7,10} nA ~ B)=1 n(4 U B)=9
Ans2=| 1= a“:;“;:{{llls}} ,2=| n(4-B)=6 n(U-(4 U B))=4
aread = {2,9,12, 13} n(B-4)=2 Math@MUT
[ [ areal={4,12,17,20} | ]
areal = {6} n(intersect(4, B, C)) =0 n(4A-B)=4
area3 = {9, 14, 18} n(union(4, B, C)) =12 n(B-4)=5
nsi<| 1< aread = { } 2 n(4d N B)=1 n(C N (4uvB))=2
areas = { } i n(B N C)=2 n(C v (4 nB))=5
area6={7,11} n(4 v C)=9 n(intersect(4, B, C)/) =17
area7 = {13, 15} n(Bu C)=8 Math@MUT
L Larea8 = {5, 8, 10, 16, 19 } | i
A v B=1{5,7,8,9,10,11, 12,13, 14} i 1 =(B = {areal, aread})
A’mB={5,9} 2=(A4' - B={aread})
4V B - 4,5,6,9, 11,13} 3=((4 N B) = {areal, area3, area4})
B nA4={72810,12, 14} 4=(A N C={area4, areas})
Ans4 = A4-B={11,13} , Ans5= S5=(C U (4 n B)={area2, area4, area5, areab, area?7 })

B -A=1{4,6}
(4 U B)=1{4,6}
A N B={4,6}
L (A-B)=1{4,5,6,7,8,9,10,12, 14} |

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

O6=((4 v C) n (B vy C)={area2, aread, areas, areab, area?7 } )
7=((C-4) n (C-B)={area7})
8=(B n C= {areal, area8 })
9= ((C—A)’—Brz {area2, area3, area’ })
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“:6“21_: {{67’192}} ndnB)=2 n(duUB)=5
Ansl =| 1= “;Za;_{’lo} 2= n(4-B)=2 n(U-(4 U B))=8
aread = {4,5,8, 11,13, 14, 15, 16} n(B-4)=1 Math@MUT
areazlj{{42,75,l91}} n(4 A B)=3 n(4 U B)=7
Ans2 =| .1 = "re;’re;3_’{3’} ,2=| n(4-B)=3 n(U—-(4 U B))=5
aread = {0, 1,6, 8,10} nB-4)=1 Math@MUT
[ areal = {13} ] i
area = {14} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {3,4,16} n(union(4, B, C)) = 10 n(B-A)=4
sz | areas=110} S n(4 N B)=2 n(C A (4 U B))=3
IR gpeas=1{12) YT n(B A C)=2 n(C U (4 N B))=6
area6 = {5} nd u C)=7 n(intersect(4, B, C) )= 13
area7 = {6,15} n(Bu C)=9 Math@MUT

Larea8=1{7,8,9, 11}
AU B=1{506,7,8,91011,13} |
AN B={7,8}
A U B'={4,56,7,8,12, 14}
B N A=1{910,11,13}
A-B=1{506}
B —A=1{4,12,14}
(4 U B)=1{4,12,14}
A~ B'={4,12, 14}
L(A-B) =1{4,7,8,9,10, 11, 12, 13, 14} |

Ans4 = Ans5 =

>

A= (A,= {area3, area4})
2=(B —A ={areal })
3=((4 n B)': {areal, area3, area4})
4= (A’ = {area3, areab, area’7, area8 })

S5=(C v (4 n B)={area2, area4, area$, areab, area?7 })
O6=((4 v C) N (B v C)={area2, aread, area’, areab, area7 })
J=((B—-4) n (B-C)={areal})
8=(B-C= {aread, area7})
9=(4 N (C-B) = {areal, area2, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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areal = {2,13}

area? = {7} n(4d N B)=1 n(4d U B)=6

Ansl =| .1 = area3 =13.5.9 ,.2=| n(4-B)=2 n(U-(4 v B))=7
aread = {1, 4, 6{, 8, 10,}11, 12 n(B-4)=3 Math@MUT
areal = {6,7,8,9,10} n(A ~ B)=2 n(A U B)=11
Ans2=| 1= area“;’i“f;fi’l“s},l6} ,2=| n(4-B)=5 n(U-(4 U B))=4
aread = {2, 12, 13, 14} n(B-A)=4 Math@MUT
o areal = {4,5,15} ] T
area? = {10} n(intersect(4, B, C)) =0 n(4-B)=3
area3 ={ } n(union(4, B, C)) =9 n(B-A4)=2
nsi<| 1< aread = { } . n(4d N B)=1 n(Cn(4uB))=2
area’ = { } ’ n(B N C)=2 n(CuU (4 nNB))=6
area6={8,9} n(4 v C)=9 n(intersect( 4, B, C)/) =16
area7 ={7,12,17} n(Bu C)=6 Math@MUT
L Larea8 = {6, 11, 13, 14, 16, 18, 19 } | J
AU B=1{4,8,9,10,11,13,14,17} [ 1 =(B = {areal, aread’}) i
’ 4N B={4} 2=(A' - B={aread})
4V B= H’ 5,6,7,9,11,12, 15,16} 3=((4 n B)': {areal, area3, area4})
B N 4={8,10,13,14,17} 4=(4 N B={area2, areas})
Ans4 = 4-B={9,11} , Ans5 = S5=(C n (4 v B)={area4, areal, areat } )
B —4A= {5,6,7,12,15,16} O6=((4 N C) v (B n C)={aread, area5, areab })
(4 U B)=1{5,6,7,12,15,16} 7=((B-4) n (B-C)={area3})
A N B= {5,6,7,12,15,16} 8= (A’ U B'= {areal, area3, area4, area6, area7, area8})
L(A—B) ={4,5,6,7,8,10, 12, 13, 14, 15, 16, 17 } | L 9=((4-B) - C={area2, area3, area8}) i
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Set0l Answers for No.13116

areal = {10, 14} - )
area2 = {4, 11} n(4 N B)=2 n(d4d U B)=17

Ansl=| .1= ,.2=| n(4-B)=2 n(U-(4 U B))=6

area3 = {13,15,16} B
| laread=15,6,7,8,9, 12} nB-4)=3 Math@MUT

areal = {3,4, 14}

area? = {5} n(4 n B)=1 n(4 U B)=6

Ans2=| .1= area3 = (6,15 ,.2=| n(4-B)=3 n(U-(4 v B))=9
Laread = {1,2,7,8,9, 10, 11, 12, 13} n(B-d4)=2 Math@MUT
[ i areal = {4} i i
area? = { } n(intersect(4, B, C)) =2 n(4-B)=3
area3 = {2,9} n(union(4, B, C))=9 n(B-—A4)=2
ns3=| 12 aread = {5,11} . n(4d N B)=2 n(C n (4 v B))=4
areas = {3,7} ’ n(B N C)=2 n(Cu (4 nB))=6
area6={ } nd v C)=7 n(intersect(4, B, C)) =11
area7 = {12, 13} n(Bu C)=38 Math@MUT
L Larea8 = {6, 8, 10, 14} | ]
4V B=1{3,4,56,7,810,13} I 1 =(B={areal, aread}) 1
/AmB={7,10,13} 2=(A-B={aread})
4w B=1{34 7’,8’ 9,10, 11,12, 13} 3=0(4 n B)/: {areal, area3, area4})
B N A={506} 4=(A v C={areal, area2, area4, area’, areab, area?7})
Ansd = A-B={3,4,8} , Ans5 = S5=(C v (4 n B)={areal, area4, area$, areab, area?7 })
B —A4=1{9,11,12} 6=((4 v C) n (B v C)={area2, area4, areal, areab, area7 })
(4 U B)=1{9,11,12} 7=((C-4) n (C-B)={area7})
A N B={9,11,12} 8=(B n C={areal, area8})
L (4-B)=1{5,6,7,9,10,11,12,13} | L 9=((B-C) — A= {areab, area’, area8}) i
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Set0l Answers for No.13122

”m’r[ :2{_6’{79’ 1102’}“} nd N B)=2  n(4 U B)=8
Ansl =| .1 = aieza3_‘{13‘ 4y 2= nA-BI=4 a(U=(4 v B))=3
aread= 14, 5, 8) n(B-A4)=2 Math@MUT ] |
“rm;{f;g’lig} n(4 N B)=2  n(duU B)=7
Ans2=| .1 = 3:233:{6’ By 2= MA-B)=3 a(U-(4 U B))=5
aread = {3,4,9, 13, 14} n(B-4)=2 Math@MUT
[ i areal = {7, 14} ] 1
area? = {8} n(intersect(4, B, C)) =0 n(4d-B)=35
area3 = {0,4,12} n(union(4, B, C)) =9 n(B-A)=3
i 12 aread={1,5,15} S n(4 N B)=1 n(C N (4 U B))=3
mI= AT areas=1{ } ol = n(B N C)=0 n(C U (4 N B))=4
area6 = { } n(d4u C)=6 n(intersect(4, B, C)) =17
area7 = { } n(Bu C)=7 Math@MUT
Larea8 = {2,3,6,9,10,11, 13,16} ]

[ 4 U B={2,3,456,7,809,10} | I
AN B={57}
AU B={0,1,2,3,56,79,11,12}
B A=1{43810}

1 =(A4 v B={areal, area2, area3})
2=(A4' - B'={area3})

3=(4 N B'={area4})
4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B=1{2,3,6,9} S5=(C v (A n B)={area2, area4, area’, areab, area?7})

B -A= {0,1, 11,12} 6=((4 v C) n (B v C)={area2, aread, area5, areab, area’7 })
(4 U B)’: {0,1,11,12} 7=((B—-4) v (B-C)={area2, area3, areab })
A N B={0,1,11,12} 8=(4 U C'={areal, area2, area3, areab, area’, area8 })
_(A_B)':{071,4,5,7,g, 10,11, 12} | L 9=(C N (B—A)':{area4,area5,area7}) |
O0:0:0:0:0:0:0:0.0.0:0:0.0:0:0.0:0:0:0:0:0:0:0.0.:0:0.0.:0:0.0.0:0.0:0:0:0:0.0:0:0.0:0:0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0:0.0:0:0.0:0.0:0:0:0:0:0.0:0:0:0.0:0:0.:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0.0:0:0.0:0:0.0:0:0.0:0:0.0.0.0:0:0.0.0:0.0.0.0.0.:0.0:0:0:0:0:0.0:0:0:0:0-0:0:0 ¢

, Ans5 =
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Set0l Answers for No.13123

":“‘21_: {{5136}} nd N B)=2 n(du B)=5
Ansl=| 1= ai:aa3—_{9’11} ,2=| n(4-B)=1 n(U-(4 U B))=6
aread = {3,4,7, 8,10, 12} n(B-4)=2 Math@MUT |
“’e";f{{;’g}} n(d nB)=2  n(4du B)=8
Ans2=| 1= are;’;e_“{g 1117y 25| MA-B)I=2 a(U-(4 v B))=6
aread = {5,7,12, 14, 15,16 } | n(B-4)=4 Math@MUT
[ i areal = {6} ] ) ]
area? = {2,10, 14} n(intersect(A4, B, C)) =1 n(4d-B)=1
area3 ={ } n(union(4, B, C)) =11 n(B-A4)=2
ns3=| 17— aread ={ } P n(d N B)=4 n(C N (4wv B))=3
ns3 =\ A= area5 = {1} Sale nB n C)=3 n(C U (4N B))=10
area6 = {13, 15} n(4 v C)=11 n(intersect(4, B, C),): 18
area7 = {3,8, 16, 18} L n(B v C)=10 Math@MUT
L Larea8 = {0,4,5,7,9, 11,12, 17} i
4 v B={0,1,2,46,7,8,9,10,11} [ 1=(A v B={areal, area2, area3})
4 N B={8} 2=(A—-B={areal})
4V B={23,4578,10} 3=(4" N B'={aread})
B n4={0,1,6911} 4=(B v C={area2, area3, area4, area$, area6, area?7})
Ans4 = A-B=1{2,4,7,10} . Ans5 = S5=(B U (A4 n C)={area2, area3, area4, area5, area6 })
B-A= {3,5} 6=((4 U B) n (B v C)={areal, area3, aread, area’, area6 })
(4 U B)=1{3,5} 7=((4-B) n (4-C)={areal })
A N B={35} 8=(4 n C ={area3, area8})
L (A—B)':{O,l 3,5,6,8,9,11} | L 9=((B—-C) —4 ={areal, area4, area5 }) |

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXKXKXKXKXXKXKXKXKXXKXKKXKXKKKXKKXKXKKKXKKXKKKKKX KKK KKK KKK KKK KKKKKKKKKKK KKK KK KK KKK KKK KKK KKK KK KKK KK KK KKK KK KKK



DGRV ERHRNCIVIVEND’'0:9:6:0:0:0:0.6:0:0.0:0:0:0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.0:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.6:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | W Ex T T N OO NI JO I 1) 04
Set0l Answers for No.13126

areal = {4,7,8,12}

area2 = {10} n(d N B)=1 n(4 v B)=38
Ansl =| 1= area3 = {3,6,13) ,2=| n(4-B)=4 n(U-(4 U B))=5
aread =12,5,9, 11, 14} n(B-4)=3 Math@MUT
areal = {2112,03,94, 10} n(A ~ B)=2 n(A U B)=9
Ans2=| 1= 2:22315’6% ,2=| n(4-B)=5 n(U-(4 U B))=2
read {7: 8) n(B—A)=2 Math@MUT
T areal = {5, 10, 14} ] T
area? ={1,16} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 ={ } n(union(4, B, C))=9 n(B-4)=1
T aread = {3, 11} 5 n(d N B)=2 n(C N (4 U B))=3
' areas=1{ } . nB N C)=1 n(Cu (4 n B))=6
area6 = {9} n(4 v C)=9 n(intersect(4, B, C)) =17
area7 = {2} n(Bu C)=6 Math@MUT
| larea8=1{4,6,7,8,12,13,15,17}] ]

4 v B={7,8,9,10,12,15} I 4]:(A’={area3, area4}) 1
AN B={8,10,12}

' 2=(A—-B={areal })
A v B=1{3,45,6,7,8,9,10,11, 12,13, 14, 15,16, 17} 3=(4 n B'={aread})

B N A’:{ } 4=(4 v B={areal, area2, area3, aread, areal, areab } )
Ansd = ’ A-B=1{7,9,15} , AnsS = S5=(A4 n (B U C)={area2, aread, area5})
B -4=1{3,4,5,6,11,13,14,16,17} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 v B)': {3,4,5,6,11,13,14,16,17} J=((A-B) n (A-C)={areal })
A~ B'=(3,4,56,11,13,14,16,17} 8=(A'- B = {area3, area6})
L (A—B)’={3, 4,5,6,8,10,11,12,13,14,16,17} ] L .9:((A—C)’—B:{area4, area?7, area8}) ]
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Set0l Answers for No.13325
areal = { }

area? {4, 8 10} n(4 ~ B)=3  n(4 U B)=6

Ansl =| .1 = ,.2=| n(A-B)=0 n(U-(4 U B))=5
area3=1{2,3,5} B
aread =1{1,6,7,9,11} n(B-4)=3 Math@MUT
“Ve"];fi’lﬁ}g} n4nB)=1 n(4duU B)=6
Ans2=| 1= ar‘;:;“_gw ) 2= n(4-B)=3 n(U-(4 U B))=9
aread = {4,5,8,10, 11,12, 15,16, 17} n(B-4)=2 Math@MUT
[ [ areal = {8} ] ]
area? = {12,13,15} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3 = {10} n(union(4, B, C))=9 n(B-—A4)=2
nsi<| 12 aread = {5,9,16} P n(4 N B)=3 n(C N (4 U B))=4
' area5=1{} - n(B N C)=1 n(C U (4 nB))=7
area6 = {4} n(4 U C)=38 n(intersect(4, B, C)) =17
area7 = { } n(Bu C)=8 Math@MUT
L Larea8 ={1,2,3,6,7,11,14,17}] ]
AUB:{273’435’6’7’9’11712} [ .]=(AﬁB:{area2}) ]
A N B=1{3,459} 2=(A-B={areal })
4V B={2,3,45,7,8,9,10,11} 3=((4 U B) = {area4})
B N A4={612} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B={2,7,11} , Ans5 = S=(A4 n (B v C)={area2, area4, areas})
B -A= {8,10} 6=((4 N B) U (4 n C)={areal, aread, area’5})
(4 U B)=1{8,10} T=((B-4) n (B-C)={area3})
A~ B'={8,10} 8=(B v C = {areal, area2, area3, aread, area’7, area8} )
L (A-B)=1{3,4,5,6,8,9,10,12} ] L 9=((B-C) —4 = {areal, aread, area5}) ]
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Set0l Answers for No.13421
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areal ={7,8,11}

! n(dnB)=2 n(d4duUB)=6
Ansl=| .1 = “2223‘_{?’69}} ,.2=| n(4-B)=3 n(U-(4 U B))=5
areat— {1,2,3.5, 10} nB-4)=1 Math@MUT
“’e;’]f{ggé} n(4 N B)=2  n(4uU B)=7
Ans2=| 1= are;j’ef‘{2‘4 " 14) 2=l n(4-B)=1 n(U-(4 U B))=6
aread =1{3,7,9, 11,12, 13} n(B-A)=4 Math@MuT
[ [areal = {3,11, 14} ]
area? = {2,8} n(intersect(4, B, C)) =0 n(4d-B)=5
area3 = {0} n(union(4, B, C)) =12 n(B-A4)=2
3| g | areat=14133 | n(d N B)=2 n(C N (4 U B))=3
MIEVIEL geas=( ) [T n(B A C)=1 n(C U (4 N B))=8
area6 = {5} n(4 v C)=11 n(intersect(4, B, C)) =15
area7 = {7,10,12} n(Bu C)=9 Math@MUT
L L area8=1{1,6,9} | J

AU B=1{1,2,4,56,8,9}
AN B=1{25}

AU B={0,1,2,3,57910}
BN A=1{4068}
A-B=1{1,9}

B -4=1{0,3,7,10}

(4 U B)=1{0,3,7,10}
A4~ B'={0,3,7,10}
L(A-B)'=1{0,2,3,4,5,6,7,8,10}]

Ans4 =

, Ans5 =

A= (A': {area3, aread })
.2=(A'—B': {area3})
3= (A' U B'= {areal, area3, area4})
4=(A n B={area2, area5})
S=(A4 n (B v C)={area, area4, area5 })
6=((A4 N B) U (4 n C)={areal, area4, areal })
7=((C-4) v (C-B)={area4, areab, area7 })
8= (B'— C= {aread, area7})
L ,9=((A—C)’—B’= {area3, area5, area6 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13646

areal = {14}

area2= {5, 12} n(d N B)=2 n(duUB)=5

Ansl =| .1 = 2= n(4-B)=1 n(U-(4 U B))=8
area3 ={9,13}
aread = {4,6,7,8,10, 11, 15, 16} n(B-4)=2 Math@MUT
“re”’;f {4136} n(4 A B)=2  n(4 U B)=5
Ans2=| 1= 2:22313’9% 2= n(4-B)=1 n(U—-(4 U B))=7
aread = {2,5,7, 8,10, 11, 12} n(B-A4)=2 Math@MUT
[ [areal = {10,12,13,14} ] ]
area = { } n(intersect(4, B, C)) =1 n(4-B)=4
area3 =1{4,6,8,11} n(union(4, B, C)) =11 n(B-A4)=6
sl 1 aread = { } S n(d N B)=1 n(C A (4 U B))=3
' area5 = {16} o n(B N C)=3 n(C U (4 n B))=3
area6 = {7,9} ndu C)=7 n(intersect(4, B, C)) = 14
area7 = { } n(Bu C)=7 Math@MUT
L L area8=1{3,5,15,17} | ]
AU B=1{6,7,9,10,12, 14,16} I 1= (B = {areal. aread}) 7
' 4.0 B=1{6,16} 2=(A-B={areal })
A v B={3,4,506,7,811,12,13,15,16,17} 3=((A-B) n (B-A)={1})
BnA= {9, 10, 14} .4:(3’: {areal, area4, area7, area8 })
Ans4 = A-B={7,12} , Ans5 = 5=(C n (A U B)={aread, area’, areab })
B—4= {3,4,5,8,11,13,15,17} 6=((4 N C) v (B n C)={aread, area’, areat })
(4 U B)=1{3,4,58,11,13,15, 17} 7=((C=A4) N (C-B)={area’})
A N B= {3,4,5,8,11,13,15,17} 8= (A' U B'= {areal, area3, aread, areab, area7, area8 })
(4-B)=1{3,4,5,6,8,9, 10, 11,13, 14, 15,16, 17} L 9=(B' N (C-A) = {areal, aread, area8 } ) ]
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Set0l Answers for No.13862

areal = {1,8,9}
area? =1{2,5,6}
area3 = {4}
area4=1{0,3,7,10, 11}

areal = {4,7,10}
area? ={9, 11}
area3=1{3,6,8, 12} "

n(4d N B)=3 n(4d v B)=7
,.2=| n(4-B)=3 n(U-(4 v B))=5
n(B-4)=1 Math@MUT

Ansl =| .1 =

n(4d N B)=2  n(4 U B)=9

Ans2=|.1= 2=| n(4-B)=3 n(U-(4 U B))=2

aread = {513} n(B-4)=4 Math@MUT
[ areal = {3,4,6} | ) 1
area = { } n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {11} n(union(4, B, C)) =10 n(B-4)=2
nsi=| 1= aread = {12} e n(4d N B)=1 n(C N (4 U B)=3
area5 = {8} ’ n(BnN C)=2 n(C U (4 N B))=6
areab = {14} n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 ={0,1,10} L n(Bu C)=7 Math@MUT
L Larea8 = {2,5,7,9,13 }] ]
[ AU B=1{0,1,3,56,7,9, 14} ] [ 1=(4 ~ B={area2}) )
' 4 0 B={0,14} 2=(B ~4'={areal })
AU B={01,2,4,56,7,8,10,11,12,13, 14} 3=(4 N B'={aread})
Bnd= {3,9} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B={1,567} , Ans5 = 5=(C n (4 U B)={aread, area5, area6})
B -4= {2,4,8,10,11, 12,13} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 v B)': {2,4,8,10,11, 12,13} 7=((C—-4) v (C-B)={aread, areab, area7 })
A N B= {2,4,8,10,11,12,13} ,8=(A’ N C= {area3, area8 })
L (A—B)':{O, 2,3,4,8,9,10, 11, 12, 13,14} | L 9=(B N (C—A)’:{areaZ, area3, areal }) ]
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Set0l Answers for No.13943

areal = {2,3,4,6}

area2— 1 (n(4 ~ B)=0 n(4d U B)=17
Ansl =| .1 = area3 = {7.8.9} ,.2=| n(4-B)=4 n(U-(4 v B))=5
| lareat=(5,10,11, 12,133  -nB-A=3 Math@MUT ] |
“re‘”z{f’ g’}9} (4 A B)=1 n(4 U B)=10
Ans2=| .1 = area3:a:ff5, 7f8’ lo, 11y 2=| MA-B)=3 n(U-(4 U B)=3
] | wread=1{1,2,12} L n(B-4)=6 Math@MUT |
i areal = {5,6,12} ] 1
area? = {9} n(intersect(4, B, C)) =0 n(4A-B)=4
area3 = {8, 11} n(union(4, B, C))=9 n(B-—A4)=3
ns3—| 12 aread = {2} P n(4d N B)=1 n(C N (4uvB)=2
' area5=1{} - n(B N C)=1 n(Cu (4N B))=4
area6 = {4} nd U C)=7 n(intersect(4, B, C) )= 15
area7 = {7} n(Bu C)=6 Math@MUT
L Larea8 = {0, 1, 3,10, 13, 14 } | ]
4 v B=1{4,5,10,12,13} .1=(B/:{area],area4})
4N B={4,510} 2=(B-A={area3})
4 v B=1{0,1,2, 3”4’ 5,6,7,8,9,10,11, 14} 3=0((4 n B)': {areal, area3, area4})
B nA4=1{12,13} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ans4 = A-B={} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B-A= {0,1,2,3,6,7,8,9, 11, 14} 6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
(4 U B)=1{0,1,2,3,6,7,8,9,11, 14} 7=((4=B) v (4-C)={areal, area2, area })
A N B= {0,1,2,3,6,7,8,9,11,14} 8= (B’ U C= {areal, area2, area3, aread, area7, area8})
[(A-B)=1{0,1,2,3,4,5,6,7,8,9,10,11,12,13, 14} L 9=((B-C) —A4={areab, area’, area8}) J
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Set0l Answers for No.13968

areal = {2,10, 12} - )
area2 = {3,7} n(4 N B)=2 n(4d U B)=7

Ansl =| .1 = ,.2=| n(4d-B)=3 n(U-(4 U B))=4
area3 ={5,9} B
aread4 =1{4,6,8,11} n(B-A4)=2 Math@MUT

areal = {0,3,4,7,9} n(4 N B)=2  n(4 U B)=10

Ans2=| .1 = ar;‘;;“j{:i{ib?l}z} 2= n(4-B)=5 n(U-(4 U B))=3
aread = {2, 6,11} n(B-4)=3 Math@MUT
i areal = {15} ) i
area2 = {1,4} n(intersect(4, B, C))=0 n(A-B)=1
area3 = {3,7,10,11} n(union(4, B, C)) =13 n(B-4)=5
nsi<| 12 aread = { } o n(4d N B)=2 n(C N (4uvB))=1
area’ = { } n(B N C)=1 n(Cu (4 nB))=8
areab = {8} n(4d v C)=9 n(intersect(4, B, C)) =16
area7 =1{2,5,9,12,16} n(B v C)=12 Math@MUT
L area8=1{6,13,14} | ]
AU B=1{1,3,4,7,9,10,13, 14,15} [ 1=(B = {areal, aread ) i
' 4N B=1{7; 2=(4'-B'={area3})
Av B={1,2,3,56,7,8,10,11,12,13, 14} 3=((A-B)n (B-4)={ 1)
BN A={40915} 4= (B = {areal, area4, area’7, area8})
Ansd = 4-B={1,3,10,13, 14} , AnsS5 = S5=(B U (4 n C)={area2, area3, aread, area5, area6 })
B-A= {2,5,6,8, 11,12} 6=((A4 U B) n (B v C)={areal, area3, area4, areal, areab })
(4 v B)’: {2,5,6,8, 11,12} 7=((B—-A4) U (B-C)={area2, area3, areab })
A N B= {2,5,6,8,11,12} 8=(4 U B'= {areal, area3, area4, area6, area7, area8})
|l (4-B)=1{2,4,56,7,8,9,11,12,15} | L 9=(B N (4-C) = {aread, area’, area8}) ]
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Set0l Answers for No.13981
areal = { }

area? {2,5.11) n(4 ~ B)=3  n(4 U B)=6

Ansl =| .1 = ,.2=| n(A-B)=0 n(U-(4 U B))=6
area‘;”i‘l; N 1{’36”47”58}" o) n(B-4)=3 Math@MUT
areal = {12, 16} n(d N B)=2 n(du B)=5
Ans2=| .1 = ‘”jfj;fi’;f} L 2=| n(4-B)=2 n(U-(4 U B))=9
area4d = {4,5,8,9,10, 11, 13, 15,17} n(B-4)=1 Math@MUT
[ areal = {5,12,14} | ]
area? = { } n(intersect(4, B, C)) =0 n(4d-B)=5
area3 ={3,4,8,10, 11,15} n(union(4, B, C)) =12 n(B-4)=6
ns3—| 1 aread = {2,17} P n(4d N B)=0 n(C N (4uvB))=2
' area5=1{} - n(B N C)=0 n(C U (4 N B))=3
area6 = { } nd U C)=6 n(intersect(4, B, C)) =17
area7 = {16} n(Bu C)=9 Math@MUT
L area8 ={1,6,7,9,13} ]
4w B={1,4,6,7,89,10,11} [ 1 =(A U B={areal, area2, area3})
A/ N B=1{4,8,10} .2:(B’—A'={area1})
4w B={123,458910} 3=((A-B) U (B-A)={areal, area3})
B A={6711} 4=(A N B={area2, area5})
Ansd = A-B={1,9} . Ans5 = S5=(B U (A n C)={area2, area3, aread, areas, areab })
B-A= {2,3,5} 6=((4 v B) n (B v C)={area2, area3, area4, area’s, area6 })
(4 U B)’: {2,3,5} 7=((A-B) U (A-C)={areal, areal, area4})
A N B={23,5} 8=(A - B = {area3, area6})
_(A—B)'={2,3,4, 5,6,7,8,10, 11} L .9=((C—A)’—B={areal,area4,area8}) ]
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Set0l Answers for No.14006

areal = {5, 10}

area2 = {4, 14} n(4d N B)=2 n(4d U B)=38

Ansl =| .1 = L 2=| n(4-B)=2 n(U-(4 U B))=4
area3=1{7,9,12,13} _
aread—3.6.8.111 n(B-A)=4 Math@MUT
””e“éf Ez izi n(d N B)=2  n(4du B)=7
Ans2=| 1= areas=1u, 2= n(4-B)=2 n(U-(4 U B))=6

area3 ={4,12,15}

aread =1{5,7,8,10, 11, 14} n(B-4)=3 Math@MUT
i [ areal = {3} ) i
area2 = {4,10} n(intersect(4, B, C))=0 n(A-B)=1
area3={1,11} n(union(4, B, C))=11 n(B-—A4)=3
ansi<| 12 aread = { } o n(4 N B)=2 n(C N (4uvB))=1
areas = { } n(B N C)=1 n(Cu (4 nB))=8
areab = {8} n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 ={6,7,9,12, 14} n(B v C)=10 Math@MUT
L L area8=1{2,5,13} i
A v B={3,4,5,6,7,8,10,11, 13} i 1 =(B = {areal, aread}) 7
, 4N B={513; 2=(B-A={areal3})
A v B={3,45,7,8,9,11,12,13} 3=((A-B)n (B-A)={1})
B A=1{610} 4=(B n C= {area’, areab})
Ansd = A-B=1{3,4,7,8,11} , Ans5 = S5=(C v (A4 n B)={area2, area4, areas, areab, area?7})
B-A= {9,12} 6=((4 v C) n (B vy C)={area2, aread, areas, areab, area?7 })
(4 v B)':{g’ 12} 7=((A4-B) U (A-C)={areal, area2, area4})
A N B = 9,12} ,8=(B’ U C= {areal, area2, area3, area4, area’, area8})
L (A—B)':{S,G, 9,10,12,13} | L .9:(8' N (C—A)':{areal,area4,area8}) i
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Set0l Answers for No.14020

areal = {4,6,12}

area? = {2} n(4d N B)=1 n(d U B)=6

Ansl =| .1 = areas = 15. 13 ,.2=| n(4-B)=3 n(U-(4 U B))=7
aread = {1, 3, 7{ 8, 9,}10, 13 n(B-4)=2 Math@MUT
areal ={ } n(4d N B)=3 n(du B)=7
Ans2=| 1= arifffi?z{,ls’fii}O} L 2=| n(4-B)=0 n(U-(4 U B))=4
aread = {4.6,9.11} nB-4)=4 Math@MUT
[ areal = {12,13} ] i
area? = { } n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {11, 15,16} n(union(4, B, C)) =12 n(B-4)=4
ansi<| 12 aread = {3, 8, 14} e n(4d N B)=1 n(CnNn(4uvB))=5
aread = {2} ’ n(B N C)=2 n(C v (4 nB))=7
area6= {9} n(4 v C)=9 n(intersect(4, B, C)') =16
area7 ={7,17} n(Bu C)=10 Math@MUT
L Larea8 = {1,4,5,6,10}] ]
A v B=1{1,3,4,57,8,11,12} i 1=(4 N B={area2})
' 40 B=1{3,7,8} 2=(4A'-B={area3})
4V B={23,56728910,11,13, 14} 3=((4-B) U (B—A)={areal, area3})
B A={1412} 4=(4 n C= {aread, area5})
Ansd = A-B={511} . Ans5 = S5=(C n (A v B)={aread, area$5, area6})
B-A= {2,6,9,10, 13, 14} 6=((4 N C) v (B n C)={aread, areal, areab})
(4 U B)=1{2,6,9,10,13, 14} 7=((B-4) v (B-C)={area2, area3, areab })
4 A B'=12,6,9 10,13, 14} 8=(B' n C'={areal, area8})
(4-B)=1{1,2,3,4,6,7,8,9,10, 12, 13, 14} L .9=(4" n (C-B) = {area3, areat, area8}) |
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Set0l Answers for No.14022

areal = {11} (n(4 A B)=3  n(4 U B)=7
Ansl =| 1= “;f:j;_{{%i‘ 170}} 2= n(4-B)=1 n(U-(4 U B))=5
| Laread= {_1,2: 348y LNE-A)=3 Math@MUT |
areal ={2, 5, 14} (4 A B)=2  n(4 U B)=9
Ans2=| 1= aref‘lgef{z,ag”lli}w} 22| n(4-B)=3 n(U—(4 U B))=4
| lareas=16,7,8,101 ] LB D=4 Math@MUT ] |
[ [ areal = { } ] T
area? = {8,17} n(intersect(A4, B, C)) =0 n(4d-B)=1
area3 =1{6,9, 11} n(union(4, B, C))=9 n(B-A4)=3
szl 12 aread = {4} S n(d N B)=2 n(C N (4 U B)=1
area’ = { } i n(B N C)=0 n(CuU (4N B))=6
areab = { } n(4 v C)=6 n(intersect(4, B, C)/): 17
area7 = {13,14, 18 } n(Bu C)=9 Math@MUT
L larea8={5,7,10, 12, 15, 16, 19,20} | i
I A U B={4,8,10,11,13,14,15,17} i r 1=(4 N B={area2}) T
AN B={10,11} 2=(A-B={areal })
AU B={506,7,829,10,11,12,16} 3=(4 N B'={aread})
B A=1{4,13 14,1517} 4=(A N B={area2, area5 })
Ansd = A-B={8} . Ans5 = S=(C v (4 n B)={area2, area4, area’, areab, area?7})
B-A= {5,6,7,9,12,16} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })
(4 U B)=1{5,6,7,9,12,16} 7=((C-4) n (C-B)={area7})
A A B=1{56,7,912,16} §=(B' - C = {aread, area7 })
[(A—B) ={4,5,6,7,9,10, 11, 12, 13, 14, 15, 16, 17} | L 9=((C-B) -4 ={areal, area2, area5 }) _
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